P5

81

1

Eshh DxE . B

EELD M@ bIMIC BRI, =

Profits (gains) increased slightly (somewhat, partly; delicately, slimly) in comparison with last
year (than last year).

3 3
* 18 Z fco =increased = <plain-style-past-affirmative> of £ X &9 g2 (increase)

(12
BUb ALY

BAREFOD /é T BRhENEYFZ 14_511710 =
We managed to escape the pinch (crisis) because of the activity of Mr Hashimoto (player,
athlete). / because Mr Hashimoto (player, athlete) performed noticeably.
* 1& A & DY = somehow, anyhow, in some way
DH DH
* ®Nfc = escaped = <plain-style-past-affirmative> of 811X 9 g2 (escape)

D3
BAEAEL T

?t HD BHLE v zté]_&ﬁé %F‘E’b? k_/S\ L2 LT WS, =

Regarding my child’s toys, | make sure that | choose them after taking safety (security) in
consideration.

Z5h &

BLUT=Z@32, LT, =takeinto account and
* %F’E’?é <plain-style-nonpast-affirmative> of %F‘E’ L &9 g3 = take into account, take into

N

N
91—

conS|derat|on consider as well
* EEIS\ & 21 LT W3 = <plain-style-nonpast-affirmative> of /3\ K2IC LT WXT =make
sure that (X) choose
1,_\/3\ <plain-style-nonpast-affirmative> of 1@0&‘9'” g1 = choose
* [dictionary-form / nai-form] & 3 (C U &9 = | make sure that | do / don’t do ..
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

L H L SRE

DD ERE ED IH B, =
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There is nothing which blocks (obstruct, interrupt, intercept) a field of vision (range of vision,
visual field, area visible through the lens of an optical instrument, area which one can see)
around here.

IZE
* 33 = <plain-style-nonpast-affirmative> of 1_'0 &9 g1 = obstruct, block; interrupt, intercept

* 7&\\ = there is not ~ = <plain-style-nonpast-negative> of % D £ 9 g1 (there is ~, have, exist)

15
z DB MRS B 200, =

The scientific ground (basis, foundation) of this theory (body of principles belonging to a certain
subject) is poor (meagre, scarce, limited, destitute, hard up, scanty).

* [i-adjective] » = <plain-style-nonpast-affirmative> of ‘[i-adjective] T3’

16
BEzE &L PhGA

AL 1O D, =
Whatever you do, a beginning (start, origin) is essential (fundamental, crucial, vital, main).

* [na-adjective, noun] 7Z = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9

X
X
[ Z D} ¥FHN = be covered with dust (dirt), be smear with dust (dirt)

o~

X

HOEE Xz
Y& DA = a corner (nook) of a storage room /

C <particle which shows the place where the action takes place.> /

[EFZ D FHHN = be covered with dust (dirt), be smear with dust (dirt) /

i/

72> T W3 = <plain-style-nonpast-affirmative> of 7& > T LAX 9 = be becoming now

* [stem of i-adjective] < 7D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D ¥9 = become [noun]

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
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[ChELS

1 AF¥ = an old doll /

— the old doll which was covered with dust (was full of dust) /

%Z <direct-object particle> /

%’D |77 =found, discovered = <plain-style-past-affirmative> of %’3 l7 &9 g2 (find, discover)
/

| found the old doll which was covered with dust (was full of dust) at the corner of the storage
room.

[ 18

1. %5 = <plain-style-nonpast-affirmative> of %L\i@h g1 = dance, move rhythmically to music
(often following pre-composed steps and movements)

2. Siﬁ{} <plain-style-nonpast-affirmative> of 3%5’%?3' g1 = bound, bounce, spring

3. %1%75\%) = <plain-style-nonpast-affirmative> of 2'51&75\ N Z£9 g1 =roll, tumble

4, ESE@% = <plain-style-nonpast-affirmative> of Eﬁlﬂ*&i@“ g1 = jump, leap, prance, spring up,
bound, hop

;élél‘?bj“é/u = Mr Kimura /

& <accompaniment particle> /

\d <topic particle>/

iﬁéa) ﬁ@ﬂ% = common (shared) hobby /

Y <subject particle> /

3 % = <plain-style-nonpast-affirmative> of 3 D £9 g1 =there is ~, have, exist /

DT, =|[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] M T = because ~ /
W2 % =always/

%Eg = conversation /

g)_;‘ <subject particle> /

543 = <plain-style-nonpast-affirmative> of 5‘%’%?? g1 = bound, bounce, spring /
— a conversation gets lively //

Because | and Mr Kimura have a common hobby, our conversation always gets lively.

19
Louss . . .
1. 31 = real condition, actual circumstances, actual state of affairs
Co&E&S
2. 3N =real condition, transmitted by live broadcast, live
UolA

3. 3E#E =real power, supremacy, supreme power
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Codun
4. ZE7E = reality, existence, state of existing, state of being, real thing or fact

ﬁﬁiﬁi = region, area, zone /

D <possession particle>/

%Lil‘%j = real condition, actual circumstances, actual state of affairs /

(c/

’éo fc =fitted, suited, matched = <plain-style-past-affirmative> of %L\iﬁ“ g1 (fit, suit, agree
with, match, be correct, be profitable) /

ED;% = medical care, medical treatment

dD <possession particle> /

> AT I\ =system /

— the system of the medical treatment which suits the real condition of the region

Y <subject particle> /

%%&D 5N7T W5, =<plain-style-nonpast-affirmative> of %%675 51T WZE T = be being sought
* %675 5N X9 =the passive-verb (be sought) or the potential-verb (be able to seek, can seek)
of iﬂ%&)i? g2 (seek, request, demand, want, wish for, search for, pursue (pleasure), hunt (a

job), buy)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

The system of the medical treatment which suits the real condition of the region is sought (is
requested, is demanded)

10

1. %Z\%X = expert, professional, person who works in a skilled occupation
2. §€5% = expert

3. %éblg = master, master hand, maestro

4, ;ﬁg% = outstanding talent, great talent, exceptional ability

ThAlo

% M#EF =that player, that sports player, that athlete /

|& <topic particle> /
Uy ShhA
+ ZI(Z =inten years /

oeb

— A\ = one person /

D <possession particle> / __

E% 1Z = <plain-style-nonpast-affirmative> of E% T9 =(X) is an outstanding talent /
& <quotation particle> /

E\bh’c W3, = <plain-style-nonpast-affirmative> of E\bn’( LWZE T = be being said now
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Ly

* SN E T =be said (by a person) = passive-verb of SL\K I g1 say)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

That player is said to be the person with outstanding talent who appears once every ten years.

111
S

1. 7[“ = = unrest, disquiet; turbulence, quality of being turbulent; impropriety
S5ES

. <& = injustice, impropriety, unreasonableness, unreservedness, unfair, invalid

SUh

2
e
3. Mg = defect, deficiency, imperfection, inadequacy, Yours in haste
4. AN = irregularity; unseasonableness

c
9r

H]HlH

’f’; = document, official papers, certificate /

Lc_ <eX|stence particle> /

71_ % = defect /

hH¥ <subject particle> /

3% > 1= =there was ~ = <plain-style-nonpast-affirmative> of % D £ 9 g1 (there is ~, have,

exist) /
B W

&, = case, occasion, situation /
LAEW

FAZE = application, request, petition /
Lat <top|c particle> /
Uwb
xf@énitﬁu be not accepted = passive-verb, negative of I U £ 9 g3 (accept) /

When there is a defect in a document, your application will not be accepted.

(112

MNEL

1. [E18 = recovery (from iliness), improvement, rehabilitation, restoration
Lip355<

{&18 = repair, mending, act of fixing, correction, act of mending

BoED

3. @IEI = restoration, restitution, rehabilitation
B

N

\J

4. 1 li revival, renaissance, renewal, reconstruction

RAXZ

#3004 81 = about 300 years ago /

@ <possession particle> /
A\

#Z1H| = picture, drawing, painting /
@D <possession particle> /

LU 335<
1&18 = repair, mending, act of fixing, correction, act of mending /
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75\ <subject partlcle>/
%Xb D = %Xbo T= %53109 fco #UL T, =ended and ..
ﬁé‘b > fc = ended = <plain-style-past-affirmative> of fﬁ%b N F9 g1 (end, finish)

* Both [masu-form] and [te-form] can be used to join sentences. However, the former is more
formal.

5W(FD
B M5 =from next month /

Z5HhW0

NEE 1% = <plain-style-nonpast-affirmative> of ﬁﬁaﬁéhi@“ (be exhibited) which is the
Z5HL

passive-verb of 22 L £ 9 g3 (exhibit, show, demonstrate; present) /

[plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)]

£TW

FXETY =itis scheduled that ~ //

The mending of the picture which was drawn about 300 years ago ended, and it is scheduled
that it is exhibited from next month onward.

(113

1. j%”ié’% = depth, deep place, distance from top to bottom

2. Eéé‘} = forte, individual's strong point

3. 7—25’# height, elevated place, summit highest point

4. Eé’% = heaviness, condition of being heavy; weightiness, seriousness; oppressiveness
FLuEun

#&7& = economics, business, finance, economy

[plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ must be omitted.)]
£iF /&< ...  =notonly ~ (but also ......)

EE law, rule enacted by a community or country /

(c /

5/

%bb LY D = the fact that (X) is familiar with ....

* §$ L LY = knowing very well, detailed, itemized, containing details, clear, described in detail /
— The fact that he knows not only economy but also law very well

75\ <subject particle> /

EZU) his /

3@7} = forte, individual's strong point /

[na-adjective, noun] 2 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’ =
(are, am) //

The fact that he knows not only economy but also law very well is his strong point.
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P7

(114

(035} L (0=} (9]
1. [5< 5N T L3 = <plain-style-nonpast-affirmative> of [5 < H1511T WX J = be known
widely

*%lﬁ 5% 9 = be known = passive-verb of %blil N %9 g1 (know)

* [te-form] L\ i‘? =1 be doing now 2 <situation, state> 3 <habitual repeated action>
2. %%T“Li ?‘;bb L\ = (X) is rare recently

3. ;E%LC ﬁ#ﬁﬁf‘%b\ MM 3 = <plain-style-nonpast-affirmative> of gg%‘: ELII#hF'E%b\ WD EI g1 =
it takes a lot of time

4, gi‘ét:@ < %%T/ L\ = (X) never exist so far and is new

Z OJ@QLF& = this movie, this film, this motion picture /

|& <topic particle> /

%IEFH%E’; = epoch making, epochal, of or pertaining to an age, of an era; momentous /

VAN <putting after a na-adjective to modify a noun>/

%E = technique, ability, skill, method of performance /

¢ = by (means of) ~, with ~/

el TunaEl

BEX N7z = was produced = <plain-style-past-affirmative> of 2E L £ 9" g3 (manufacture,
produce) //

This movie was produced by the epoch-making technique.

(115

Fuh< Fuh<

1. EHE LU T =te-form of ETE L £3 g3 (plan, scheme, plot)
=S [z
R LT =te-form of R7= U X9 g1 (accomplish, fulfill, carry out, achieve)

2.
A hWw L
3. A\ LT =te-form of F L £ T g3 (start, begin)
HES HES
4. FHsHT=te-form of FF6D E I g2 (give up, abandon, forsake, leave behind)

EELS
% D12 = that enterprise, that company, that business; that concern; that undertaking /
|& <topic particle> /
@\L\h%\EIE;EB .
YB35 = overseas (a foreign) market /
’\ <direction particle>/
@D <possession particle> /
LALwD
#EH = advance, forward movement, progress /

%Z <direct-object particle> /
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® < < 3
: /u‘C L% = <plain-style-nonpast-affirmative> of Ei%A T LNEX T = be planning now
b

bos

Aﬁ

uﬁarﬁi@“ g1 = plan, form a plan, make a scheme, plot, design, contrive
* [te-form] LW E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

That company plans to advance to an overseas market.

1. 1 X—3 =image

2. 7/R— b =a support

3. ¥v¥ > X =achance

4. £~ bk =ahint

HAREW

%8 = problem, question; issue /

%Z <direct-object particle> /

%’ﬁ%@@'é = <plain-style-nonpast-affirmative> of %’;’:733 L ¥9 g3 = settle, solve, explain, resolve /
eI, =[plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’
becomes ‘no’.)] 7= I(C = 1 because ~, die to ~ <cause, reason> 2 in order to do ~, for (the
beneflt of) ~ <purpose>/

B > ’J‘b a little more /

?75\75\ = contact, trail, scent, on hand, hand hold, clue, key /

hy/

'@L& U L\ = <plain-style-nonpast-affirmative> of 15’( L WT9 =want (a thing) /

| want a little more clue in order to solve a problem (question).

(117

1. 9<IC I =immediately  * (& <topic particle>
2. F—évgi\t |& = completely * [& <topic particle>
3. ? fl"ét |& = obediently  * |& <topic particle>
4. %E%%L [& = simply, easily * (& <topic particle>

37U

3730))\ M 55 =that person’s talk (speech), what that person says /
|& <topic particle> /
I H I (& = suddenly, unexpectedly; abruptly, rapidly * (& <topic particle>
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LA

LA
EU 5NV, =cannot believe = <plain-style-nonpast-affirmative> of {§ U 5+ & 9" which is
the potential-verb (can believe, be able to believe) or the passive-verb (be believed (by person))
LA
of {5 U £ 9 sg2 (believe, trust) //

| cannot believe what that person said right now.

Lfﬁ%é: D {%j:b“b LT W3 =the price of (X) rises more than before

* 1%?:73“0 LT W3 = <plain-style-nonpast-affirmative> of 1%?:75“'0 LT WZXT =be rising in
prices now, be increasing in costs now

* 1%?:73“ N UL &K g3 =rise in prices, increase in costs

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

N

75\7.“5 =
T ’:w A>T W5 = (X) like a shape
=

* KU )\DT L% = <plain-style-nonpast-affirmative> of X 6 )\\’)T WX = like, be fond of,

Of

prefer
* R ADEF g1 = like, be fond of, prefer
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

[ ot

3.
gﬁﬁb\ =& 2 C L5 =valuation (estimation, assessment, evaluation) rises (ascend, move
upward swell; be promoted)
=X 2T L3 = <plain-style-nonpast-affirmative> of mi > 7T W&HT = be rising now
ﬁi N £9 g1 =rise, ascend, move upward; swell; be promoted

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

4.

~NA D
fBEFT 1 1x CYUo>T WD = (X) is convenient and useful

’P< = ©< fz
* &ZIC I > T L3 = <plain-style-nonpast-affirmative> of % IC iZ > T WL X T = be helpful, be
useful
PAI
*1&ZIC B X9 g1 = be helpful, be useful
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //
Z D3A = this pot /
|& <topic particle> /
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B5&5EFS B5&51FS
EULT W3, =<plain-style-nonpast-affirmative> of EE LT \L\EX T = treasure

5£51F5

*&EEU XY g3 =treasure; find useful
* [te-form] LW E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

This pot (saucepan, deep cooking pot with a handle) is useful.

119
£ b=

1. R = (X) is cowardly (fearful, pusillanimous, lacking courage, faint-hearted, timid)
EX4)

& U L\ = severe, strict, stern, austere, grave, solemn, majestic, intense (cold)

Uw Sk

FZETZ = (X) is elastic (flexible, plastic, extensile, pliable, lithe, limber, flexile, malleable)
i3 LRH

S =

ARV = careful, observant, paying attention

W N

* [na-adjective, noun] 7 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’ =is
(are, am)

BHTS
R E A = Mr Nakamura /
|[& <topic particle> /

L&

=/

[ ;'CF}\L/’C = towards ~ (N2 No.9) /

WD % =always/

> E'7 = severe, strict, austere, astringent, chaste

[na-adjective, noun] 2 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’=is

(are, am) //

Mr Nakamura is always sever with his job.

P8

FlRE4

(120

nAFW
I = cooperation, working together, link
nAFn

H#E L £9 g1 =join, connect, cooperate
1.

N>

X = school /

|& <topic particle> /
5L &

Hhig, /
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& <accompaniment particle> /
nAFL nAFL

EHEUT =&E#ET S, £LT. =cooperate and .....
* %%"é‘ % = <plain-style-nonpast-affirmative> of %% L &9 g3 = cooperate
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.
Eé@ %%S = the safety of pupils /
%E <direct-object particle> /
—ro T W5, = <plain-style-nonpast-affirmative> of —r—; T WX =be protecting now
<F D 9 g1 = protect, defend, guard, save from harm, secure, abide (by the rules)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

The school cooperates with the region (area, zone; township) and it protects the safety of
pupils.

£l v}
BE D L8 = multiplex employees, more than one employee /
=

—8®0» 7Y > %— =one printer /
% <direct-object particle> /

nhFn nAalFWw

EHEUT =&E#¥EIT S, £LT. =cooperate and .....
* %%"é‘ % = <plain-style-nonpast-affirmative> of %% L &9 g3 = cooperate
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.
13%\9 T W5, =<plain-style-nonpast-affirmative> of 1%\9 T WZX 9 = be using now
* %L\i@“ g1 =use

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

x More than one employees cooperate with one printer and use it.
O More than one employees share one printer and use it.

— #H = share, joint ownership HE U X9 =share, own together

l:\%/u 3R H
B D #:4f = recent stock prices /
<

topic particle>/
b b:

#% L — b =the exchange rate /
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& <accompaniment particle> /

nAFL Ny
HELUT =&FEET S, £ULT. =cooperate and .....
nalFn nAFW

* EH¥ET B = <plain-style-nonpast-affirmative> of 3## U £ 9" g3 = cooperate
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. o
jﬁ‘\—’ LT W%, = <plain-style-nonpast-affirmative> of jﬁ‘\i LT W& = be moving up-and-
down now

L&5

* U E 9 g3 = move up-and-down, seesaw
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

x The recent stock prices cooperate with the exchange rate, and seesaw (move up-and-down).
O The recent stock prices seesaw (move up-and-down) in proportion to the exchange rate.

[OE AN 0w

— kAl = proportion LEI LT = in proportion to (with)

& E§ h
Zlo H# when climbing a mountain

* [plain-style (but, ‘da’ of ‘{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
& & =when (X) do (did, is doing, was doing, etc) ~ /

IC <the particle which shows the exact time when the action takes place.>

|& <topic particle> /

s

M\@' without fail /

i&l map /
% <direct-object particle> /
nAFWw

H#ELT < £\, =please cooperate //

x When climbing a mountain, please cooperate with a map without fail.
O When climbing a mountain, please take a map with you without fail.

ARV =%
— ¥ = carrying, taking
A%

*#® U F 9 = bring, carry with, take with

121

RS
A HR = dissatisfaction, discontent, disapproval, objection, complaint, protest, disagreement

Lohun e &

1)5‘20) 52L7% BEFE = his rude attitude /
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|& <topic particle> /
vEVE

FZl Wle ARD ZI“ E|§ dissatisfaction of the people who stayed there
* L\ fc = stayed = <plain-style-past-affirmative> of L\& 9™ sg2 (stay, there is ~, have, exist) /

% <direct-object particle> /
E’J fco = bought = <plain-style-past-affirmative> of Eb\iﬁ“ g1 (buy) //

x His rude attitude bough dissatisfaction of the people who were there.
O As for his rude attitude, the people who were there complained about it.

BN LY

- = complamt f|nd|ng fault; discontent, dissatisfaction

NEANAY

*(X) I& (Y)D T:F’a‘: Eb\i? g1 = (Y) complain about (X)

733#’7’( = at Karaoke /

BH
,ub\fﬂ D = with all one's strength, with all one's heart /

’) Tu ’) 7;

M>T. =8>, £ULT, =singand.....

* E":)r’i') = <plain-style-nonpast-affirmative> of E’;ﬂb\i@“ g1 =sing

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

I%IZ% = normally, habitually /

@D <possession particle> /

73F3H|<§ = dissatisfaction /

%’: <direct-object particle> /

b% >, = volitional-form of H 5 U E 9 g1 (dispel; clear away, refresh (oneself)) //

x Let’s sing at Karaoke with our strengths and clear away our everyday dissatisfaction.
O Let’s sing at Karaoke with all our strengths and blow our everyday resentments.

%\Jr
J

Kh
—>8lE = resentment grudge; anger, ire, rage, fury; indignation
S>> RA
’IE% 5 5 L &9 g1 = dispel (clear away, refresh) resentment

*

NN

Al A [FATW
#'JCD ¥|7E = the judgement (decision, verdict) of a referee (umpire)
/

L
ZI E& dissatisfaction /

%Z <direct-object particle> /
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s e
IBZ % Z &l TERL\, =cannot recite = <plain-style-nonpast-negative> of I8 2% Z & & (HY)
TZ X9 =can to recite (chant, call upon)

L e

*IBZ % = <plain-style-nonpast-affirmative> of l8.2. &3 g1 = recite, chant, call upon
* [dictionary-form] Z &hY TZ X9 =can do ~, be able to do ~ //

O You cannot dissent from the judgement (decision, verdict) of a referee (umpire).

B3 < &R
IRz IBX £ 9 g2 = dissent, dispute, object

() %‘B%’C = at this department (of a company) /

g%%?b\':‘) ) :EESEFQ = dissatisfaction from a customer /

% <direct-object particle> /

%}ﬂ% 7T WEd, =(X)is being accepted now

* %H 13} |7 E 9 g1 =be accepted, receive an application, receipt, acknowledge the receipt of an
item

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

At this department (one's duty post, one's duty station), we accept (listen to) our costumers’
dissatisfactions.

-
— N = dissatisfaction, displeasure, discontent, unhappiness

(122

D3
M& S = <plain-style-nonpast-affirmative> of ItL\ &K 9" g1 = (one’s wish, one’s dream) will be
fulfilled, will be granted, will come true, will be realized

e

3

&7 = hardship, trouble, pains /
H¥ <subject particle> /

JAYAN JAYAN YA

MW, =M>T. =H>7. #LT. =(one’s wish) came true and .....

N IR

* > fz = (one’s wish) came true = <plain-style-past-affirmative> of frLNE 9™ g1 ((one’s wish,

;
o

one’s dream) will be fulfilled, will be granted, will come true, will be realized)
* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

?\’r‘b
% = he /
|& <topic particle> /
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[FWn>

8 & LT = as an actor (N2 No.1) /

TWIS

F%Zh = success /

%Z <direct-object particle> /

B &S

IRSHTc = obtained <plain-style-past-affirmative> of UX$) &9 g2 = obtain, acquire

TWnas

* BIh %z H%’Di@“ = succeed //

x His hardship was realized and he succeeded as an actor.
O His hardship paid off (was rewarded) and he succeeded as an actor.

&< &< &<
- Hhn =FHwoONT =HWhhic, £LT. wasrewarded and ....
&< &<
* N/ = was rewarded = <plain-style-past-affirmative> of #1011 EX 9" (be rewarded) which
&<
is the passive-verb of FRUL\NE 9 g1 (reward, repay)

N

ThAELIED

XK FH = weather forecast /
hH¥ <subject particle> /

R A AN

MW, =M>7T. =M>7, £ULT. =(one’s wish) came true and .....

2z i

* > fz = (one’s wish) came true = <plain-style-past-affirmative> of HL\E 9™ g1 ((one’s wish,

one’s dream) will be fulfilled, will be granted, will come true, will be realized)
* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

ER e

% H =today /

|& <topic particle> /
W5IZEUw S

—H & = all day

MAnEn

REE = fine weather

[na-adjective / noun] 7Z o fc = <plain-style-past-affirmative> of ‘[na-adjective / noun] T3’ //

x The weather forecast was realized and it was fine weather all day.
O The weather forecast was right and it was fine weather all say.

- ;ﬁ_’o gﬁ.o? étoto ZULT. =(X) hlt and ... /(X) was right and ...
* éﬁ_ > fc = hit = <plain-style-past-affirmative> of éﬁ_ D &I g1 (hit)

b |
*{ = preparation /

%Z <direct-object particle> /
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%b‘c Z /= = have been piling up, have been stacking = <plain-style-past-affirmative> of %b
T X9 (will have been piling up, will have been stacking)

* %hi"@é‘ g2 = pile up, put something on another, stack

* [te-form] & X9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far /

AXRY K =event/

— the event which we have been preparing /

75\ <subject particle> /

f*i% = safety, safely, without incident, peacefully .

M- 7z = (one’s wish) came true = <plain-style-past-affirmative> of +L\E 3 g1 ((one’s wish,
one’s dream) will be fulfilled, will be granted, will come true, will be realized)

x The event which we have been preparing was realized without incident.
O The even which we have been preparing ended without incident.

Eo) ko)
— #&1 > fz = ended = <plain-style-past-affirmative> of #40 D £ 9 g1 (end, finish)

U R A

Ba0D fh one’s own shop /

% <direct-object particle> /

T%’D = <plain-style-nonpast-affirmative> of ?%7'5 F9 gl=hold/

(X) EWD (Y) =(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

%‘) =dream/

¥ <subject particle> /

& S &5 =finally, at last, eventually /

E‘Tij fc = (one’s wish) came true = <plain-style-past-affirmative> of D‘l’b\iﬁ' g1 ((one’s wish,
one’s dream) will be fulfilled, will be granted, will come true, will be realized) //

O The dream which | have (open) my own shop came true finally.

123
» X
BRE X UL\ =remarkable, brilliant, splendid, striking

1.
AUAtEALD

HD H >r NEF = that new player (athlete) /

bkt
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Li <top|c particle> /

Eﬁi L L\ =remarkable /

%%%2 growth /

% <direct-object particle> /

%J@‘C W%, = <plain-style-nonpast-affirmative> of %J@:‘c LWE 9 = be showing now

* %ﬁi@‘ g2 = show

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

That new player (athlete) shows us a remarkable growth.

N

A 7JL\

E(D F& T = on the upper floor

2]

HEX UL [F&E =to the extent that (X) is remarkable (N2 No.32A)

@D/

BH O E N ] . ) ) BH
REFYEN Ulcs =1 heard the big sound = <plain-style-nonpast-affirmative> of K Z 7x
boBE
¥EH LET =1 hear the big sound

BE

*~ &N LET g3 =1hear the sound of ~, | hear ~ //

o

x | heard the big sound on the upper floor to the extent that it is remarkable.
O I heard the big sound on the upper floor to the extent that | wake up.

[2) = [2) =
— Bh' BB = <plain-style-nonpast-affirmative> of BH B 6D £ g2 = wake up

D %ﬂhis red/
|& <topic particle> /
t T H =very/
Eﬁi LW ET Eﬁi LW é o #ULT. =(X)is aremarkable color and ....
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < 7T’, [stem of i-adjective] < ’is also used to be more

formal.
* [na-adjective, noun] 7Z = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =

(are, am)
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[OXE]

A B = public gaze, public notice /

%Z <direct-object particle> /

0O < = <plain-style-nonpast-affirmative> of ?'?I Z X9 g1 = pull, draw; subtract; tug
j\té)%“: §UI = X9 =draw people’s attentions, ) be noticeable, be conspicuous /

o =....,isnt? ; ..., right? //

x This red is a remarkable color and it it noticeable (conspicuous).
O This red is very vivid (brilliant, bright) and it is noticeable (conspicuous).

HS
— #£PH 73 = vivid, brilliant, bright

4,
>

&~ = last night /
Fv

B<l=early/

4%7‘ = slept = <plain-style-past-affirmative> of &i’é‘ g2 =sleep /

DT, =|[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] T = because ~ /
%\ﬁ}a = this morning /

|& <topic particle> /

é: ‘C H =very/

Eﬁi L UL\ = <plain-style-nonpast-affirmative> of Eﬁi LW T = (X) is remarkable //

x Because | slept early last night, it is very remarkable this morning,
O Because | slept early last night, | was able to wake up comfortably this morning.

» =z
— BHE&H LI\ = waking (awakening, process of waking up is good

(124
|F & |7 % = <plain-style-nonpast-affirmative> of (¥ &£ 17 £ 9 g2 = come untied, come apart,

undo, unravel, disconnect ; disengage, untie, release
The direct-object of (& & |7 E 9 is normally ‘a string, a thread, a rope, a necktie, etc’

1.
U =screw/

HY <subject particle> /
FEFT, =1FE e £LT. =came untied and .... /
* |[E E [T Tz = came united = <plain-style-past-affirmative> of (& &£ 17 £ 9 g2 (come untied)
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* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
- R =chair/

Y <subject particle> /
<55 LT W3, =<plain-style-nonpast-affirmative> of <5<5 LT WX =be not

steady now
* <5< 5 =loose, irregular movement, lolling, indecisiveness /

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

x The screw came untied and the chair is not steady.
O The screw becomes loose and the chair is not steadly.

—>WBAT, =kDBAT, ZLT. =became loose and ....
* b B A T2 = became loose = <plain-style-past-affirmative> of % #F 3 g1 = become loose,
slacken

%1?:0) 0% =shoelaces /

Y <subject particle> /

[EE TRV &SI =so that (X) don’t come untied

* [dictionary-form, nai-form] & 3 IC = so that (X) do {don’t do}~ /

Lohb & =firmly /

%E/Uréo = tied = <plain-style-past-affirmative> of %U“iﬁ“ g1 (tie, bind, fasten with a rope or
cord; link, be joined)

O So that my shoelaces don’t untie, | tied them firmly.

3.
YD %Y > = the button of a shirt /

¥ <subject particle> /
(& & 17T W3 = <plain-style-nonpast-affirmative> of (¥ & 7T LWE 9 = come untied
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
M5, =because ~ / ]
o t::(’7'337'3\‘ LYWL\ = <plain-style-nonpast-affirmative> of 5:’:?%7‘: ﬁ?ﬂ'zhfb\ LY T = has better
fasten
* 5:7336757: = <plain-style-past-affirmative> of %@i? g2 = fasten
* [ta-form] (£S5 A% LWWT T = had better do ~ /
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&Ko =...,you know?; ....., I tell you. ; ...... , | am convinced. //

x Because the button of your shirt came untied, you had better fasten it.
O Because the button of your shirt is undone, you had better fasten it.

&9
— 21T {\L )3} (be undone)
39"
* AN E 9 g2 = to be disconnected, to get out of place, to be off, to be out (e.g. of gear)

2“37\ =glass /

\C <arrival particle> / )

;‘%’\75\/3{‘ = <plain-style-nonpast-affirmative> of EAVET g1 = float
L;J?: ice

— the ice which is floating in the glass /

HY <subject particle> /

HBH3B DBEIC =in a twinkle (very fast) /

| EFfco = came untied = <plain-style-past-affirmative> of (& & |7 £ 9 g2 (come untied) /

x The ice which was floating in the glass came untied in a twinkle (very fast).
O The ice which was floating in the glass melted in a twinkle (very fast).

& &
— BT 7= (melted) = <plain-style-past-affirmative> of &7 & 3 g2 (melt)

(125

B A

EME = (proceeding to) new appointment

ST A
* #ME L F£9 = move to a different location to start for one’s new post (assignment), move to a

different location to start a new job, proceed to new appointment, leave for one's new post
(assignment)

—

H 7
BHEE D S = from tomorrow /
H > HhHh

=HTFE = for three days /

ESF£S
BR/\ =to Tokyo /

ST A ST A

MELRITNIE 25780\, = <plain-style-nonpast-affirmative> of EMEL R IFNIL BD FHA =

must move to a different location to start a new job
* [conditional-form-affirmative] 7& 5 %% L\ = must do ~ //
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x | must move to Tokyo to start for my new post (assignment) for three days form tomorrow.
O I must go to Tokyo on business for three days from tomorrow.

Ji

Lo

5 &
— H3& = business trip, official tour
L &5

wo5

ik L &9 g3 = make a business trip, go (to the place) on business

b/uu@?lﬂéb\/u FALYS

FTA L E D HHET = during the training course for new employees /
|& <topic particle> /
;*;E;— L = virtually, practically, in practice, currently, realistically /

580 i@ place where things are sold, sales-floor, counter (in shop) /
IC <arrival particle> /

H =also/

AT A ST A

HMELT H55, =<plain-style-nonpast-affirmative> of #MEL T £ 5L K F = (X) move to a
different location to start his new post (assignment) and | receive a favor from him //
x During the training course for new employees, actually we ask you to move to a different

place that is a sales-floor to start for your new post (assignment).
O During the training course for new employees, actually we ask you to go to the place where

things are sold (sales floor, counter (in shop)).

BHL
— #WT {H 53} (You go (proceed) and | receive a favor from you)
®HL

* ¥ = £ 9 = go (proceed) to the place for some purpose

RE &S
ZB& = head of a section or department /

AN <subject particle> /

%%0) ii‘i overseas branch /

IC <arrival particle> /

1%;1_"9“%) <plain-style-nonpast-affirmative> of %_LE ULET

DT, =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] M C = because ~ /
d A 78T = with everybody /

E%ﬁ%\ = farewell party /

% <direct-object particle> /

F’@aﬁb\ﬁ_o = opened <plain-style-past-affirmative> of F'aﬁé? 9 g1 (open)

*I\—TF a1 — %Faﬁ%i’é’ have a party //
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O Because our section (department) chief will move to the overseas branch to start for his new
post (assignment), we gave him a farewell party.

e, U

HH K = Mr Tanaka /

hHY <subject particle> /
Hrcd LvrE&S

#F LW R = new company president /

[C
Sl A
EMET B Z & =the fact that (X) move to a move to a different location to start for his new post

(aSS|gnment)
ST A

* #MET % = <plain-style-nonpast-affirmative> of tf?'c L &9 g3 = move to a different location to

start for one’s new post (assignment) /
Y <subject particle> /

F>T&> F>T&

HIJINfc, =was announced = <plain-style-past-affirmative> of % EhEd (be

FoT&>

announced) which is the passive-verb of 3 U &9 g3 (announce) //

x The fact that Mr Tanaka moves to (a new company president) to start for his new post
(assignment) was announced.
O The fact that Mr Tanaka took up his new post which is a company president was announced.

E»<llch
— &fE =taking up a new position (post)
e <Ich
* HEL £ 9 g3 =take up a new post

or

LwSich

BLIE = inauguration, assumption of office

U SIch

* BLE L £ 9 g3 = take on a position or duty
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